	Partner A

	
	Partner B


	1. Tom (+) on holiday last weekend.
	
	1. Tom was on holiday last weekend.

	2. He and his family were on a farm. 
	
	2. He and his family (+) on a farm. 

	3. There (+) many animals on the farm...
	
	3. There were many animals on the farm...

	4. ... but there weren’t any pigs.
	
	4. [bookmark: _GoBack]... but there (-) any pigs.

	5. And there (-) a cat. 
	
	5. And there wasn’t a cat. 

	6. Tom’s favourite animal was the farmer’s dog. 
	
	6. Tom’s favourite animal (+) the farmer’s dog. 

	7. Tom’s sisters, Amy and Sue (+) in the stable (=Stall) all day.
	
	7. Tom’s sisters, Amy and Sue were in the stable (=Stall) all day. 

	8. They were there because of the horses and the pony.
	
	8. They (+) there because of the horses and the pony. 

	9. The children’s parents (+) happy, too.  
	
	9. The children’s parents were happy, too. 

	10. Mr Miller wasn’t at work all day...
	
	10. Mr Miller (-) at work all day ....

	11. ... and Mrs Miller (+) also very relaxed. 
	
	11. ...and Mrs Miller was also very relaxed. 

	12. The family was happy about their nice holiday. 
	
	12. The family (+) happy about their nice holiday. 

	13. They (-) staying in the farm house, ...
	
	13. They weren’t staying in the farm house, ...

	14. ... they were in a nice cottage near the farm. 
	
	14. ... they (+) in a nice cottage near the farm. 

	15. Even (=sogar) the weather (+) fantastic. 
	
	15. Even (=sogar) the weather was fantastic. 

	16. There wasn’t one rainy day.  
	
	16. There (-) one rainy day. 





Partner A
You start. Use the correct (simple past) form of the verb ‘be’ .  (+) means that it is a positive sentence, (-) means that you have to use the negative form. Your partner has got the solution for your sentence. He/she checks if it is correct. After your first sentence, it’s partner B’s turn. You have got B’s solution (=Lösung) and check his/her sentence. Then it’s your turn again…




Partner B
Partner A starts and uses the correct (simple past) form of the verb ‘be’ in his/her sentence. (+) means that it is a positive sentence, (-) means that your partner or you have to use the negative form. You have got A’s solution (=Lösung) and check if it is correct. Then it’s your turn.  Your partner has got the solution for your sentence and checks your sentence. Then it’s his/her turn again…
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